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SN FEUMEX

2

M GESA #2323
ool MREA 28 FOf EEREED
SA - BB B () - MM - BES Ol &t o San HmEET
NHESAA B2 K& 7,480 5,756 1,724
= 3,740
Al 3,740
307 gl2tol & 7,480 5,756 1,724
= 3,740
Al 3,740
02 It HAHE L 7,480 5,756 1,724
OXNASALR B2 XA (14]) 7,480,000& 7,480
= 3,740
Al 3,740
NASAMICIUOIEHXA 60,340 0 60,340
= 20,608
Al 39,732
307 glz2+0l & 60,340 0 60,340
= 20,608
Al 39,732
02 HAHFHAANGEEE 60,340 0 60,340
OX&SAt 2COIUIOIH K& 60,340
-E F ol 55.810
2 1,469,970 »2H 123 35,280
= 17,638
Al 17,642
SRS RS 1,469,970& »2H 2,940
- 1,470
Al 1,470
- A S| 500,000& x2H 1,000
= 500
Al 500
- HEFOH 500,000& x2H %23 2,000
= 1,000
Al 1,000
M2 (FHZAH &) 7,295,0008 «2Y 14,590
—2t& ol Al 4,530
- IUHASREES S 4,530,000& 4,530
N2SAEEH ZEAAY 29 393,015 443,608 A 50,593
307 glz2+ol & 393,015 443,608 A 50,593
02 YAFHAANFEE 110,330 167,868 A 57,538
OXNESALEEH AFH X 110,330
A EAAY 16,330
22| 6,530,000 6,530
CAHFTH R A 9,800,000& 9,800
-UE ¥ A 85,000
CHAI2YH (R EMEH S 140AY)
85,000,000& 85,000
-2 2 STAMY 9,000




SN FUSEX W

M UASAH 2523
el MREEZA 25 &N CEEEED
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
NSAIAAX & EE2E2S5 HE
9,000,000& 9,000
03 AN EES2EHEX 282,685 275,740 6,945
OXNIEAMNEEH 29X 282,685
-H 128,990
MdE & (52) 3,834,800 x12& 46,018
MB2E(62) 3,005,600& x12& 36,068
- ealsa) 2,122 ,300& 12& 25,468
AN (93) 1,786,300& x12& 21,436
-AHZ2(E24Y) 9,752
M & (52) 3,834 ,800& *50%*2& 3,835
MBZ2ZE(62) 3,005,600& *50%*2& 3,006
- tel(sa2)
(2, 122,300%! »45%+ 12 )+(2, 122,300 *50% 2,017
12l
AN (93) 1,786, 300& x25%*2 & 894
~H2 SIS 3,360
HEE(53) 100,000& = 12& 1,200
MNR2E(62) 80,000& ~12& 960
thel, Ab& 50,000& *12& x2H 1,200
-JIEE 2,400
MNB2ZE(62) 40,000& *12& 480
- el(sa2) 80,000& x12& 960
AN (93) 80,000& x12& 960
-~ 22 RY 6,646
MNB2E(62) 10,331& *15A| 2tx12& 1,860
- el(s=2) 8,378% x25A| 2tx12& 2,514
AN (93) 7,573& x25A 2tx 128 2,272
-8 HEZAH| 130,000& x4 x12& 6,240
-HEF | 12,900
MEE(53) 3,834 ,800& *60%*23] 4,602
MBZ2Z(62) 3,005,600& *60%*23] 3,607
- Hel(83) 2,122,300& *60%*23] 2,547
AN (93) 1,786, 300& *60%*23] 2,144
-2 AbH| 3,522,000 3,522
=y || 7,380
- MEE(52) 250,000 x12& 3,000
MBZ2E(62) 155,000& = 12& 1,860
- Hel(883), AF (93)
105,000& 128 x2H 2,520
“2ZPOIAY (A2 REE 2 S) 31,100,610& 31,101
JItH 22X € Ef 19,174
IR 1,222,000& ~12& 14,664




D=0 MERX

2

P AEESA 2SS
CAESAE 23 AN

= - — SHE]|
CHE - EI(SA) - NRAY - B S e bl D=2t
- HEFOH 1,000, 000& *50%*23| 1,000
U2 5,580& x22 Al 2+ 122 1,474
M= 60,000& x12& 720
CEIANE S 1,316,000 1,316
-AbR 22l 15,619,650 15,620
-=S&524Hl 20,500,000 20,500
-0 dl 7,680
A& S ALY S ==3 04 1,920,000 1,920
2230t (4Y) 5,760,000 5,760
-“EAR2IYRFAH| 1,400,000& 1,400
-dzoa BEEE 6,020,000 6,020
HESA 23 N& 3,800 5,800 A 2,000
201 Let249] 2,000 4,000 A 2,000
01 At 22l 2,000 4,000 A 2,000
OZF&d NASA 23X 2,000,000& 2,000
202 oddl 1,800 1,800 0
01 = LH o4 1l 1,800 1,800 0
ONESAEFE =& (bl 1,800,000 1,800
FAE SSUES AMY K& 6,000 6,000 0
307 21201 A 6,000 6,000 0
02 YAFAAFEE 6,000 6,000 0
O&HAY stsEd AHZHl XI& 6,000,000 6,000
bRrol BHELISOl MY X R 18,000 16,000 2,000
307 Qiz2tol & 18,000 16,000 2,000
02 P SAMHEL 18,000 16,000 2,000
OA&2l BHEHLESDI AbHl XI&
18,000, 000& 18,000
AASAF MsSIOIRE 22 X 5,000 0 5,000
< 2,500
Al 2,500
307 21201 A 5,000 0 5,000
< 2,500
Al 2,500
02 QAFAAFEX 5,000 0 5,000
OXNESAt HsSII2E (1HE)
5,000,000& 5,000
< 2,500
Al 2,500
HYRAZH (FMHEX 2D 141,660 169,742 A 28,082
= 48,000
< 8,400
Al 85,260




A FOUMET R D
HH: BHSYAL (FUMENAD
G olEAY| (2 SHII=SELSAH) (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
Sl SAY|(S2MHIISEESIH) 70,460 92,782 N22,322
= 48,000
& 8,400
Al 14,060
AEHoIAH (2 20HIISELSIH) 60,000 55,000 5,000
= 48,000
= 8,400
Al 3,600
101 124 4| 60,000 55,000 5,000
= 48,000
= 8,400
Al 3,600
03 RIAHLZZXHE = 60,000 55,000 5,000
O =220 22| A 21 24H| 60,000
-J=23 1,849,410& x2H x12& 44,386
= 35,509
= 6,214
Al 2,663
-2 13,270 x2H 20 A| 2t x 122 6,370
= 5,096
& 892
Al 382
-EI&MEF 2,114,880 =2H 4,230
= 3,384
== 592
Al 254
-=2062 S BE8a2 5,014,000& 5,014
= 4,011
= 702
Al 301
ANEHOAHB (I HUZ2 2K =E) 10,460 10,282 178
101 2121 H] 10,460 10,282 178
03 RIAHA*ZZ2XHE S 10,460 10,282 178
O 9z H&2IA =& 10,460
- E S0 1,109,640& x2H x23| 4,439
- JoHZAH| 80,000 x2H x12& 1,920
- NESBXTH| 60,0008 »2H x12& 1,440
- s3I EII== 85,030& 2% 10 1,701
- IEx< 80,000& x1H ~12& 960
Jl23dl (=2l x ) 71,200 76,960 N5,760
Jl2dd (FoME X&) 71,200 76,960 A5,760
201 et 9| 19,000 19,000 0
01 AR 22l ] 19,000 19,000 0
OBANSYE AR 22l 19,000,000& 19,000
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